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SA BB SR(E) - HRAY - BES Ofl kot J| & o HimE2
ol 10,744,333 10,342,267 402,066
= 15,000 15,000 0
I 250,000 250,000 0
= 79,500 79,500 0
Al 10,399,833 9,997,767 402,066
Ol CAIBRS T4 L (LA UH - AE) 5,423,611 5,023,611 400,000
SRTY & 2l 5,423,611 5,023,611 400,000
e P 2,013,117 1,613,117 400,000
401 AlEHIZL 08I 1,709,000 1,309,000 400,000
01 Al&H| 1,704,536 1,304,536 400,000
OZ2UloiXl ==cH=7AIS
400,000,000 % 14! 400,000 0 400,000
(S| D) (oYL AN - ALE) 3,216 1,150 2,066
INES 3,216 1,150 2,066
FSPNES 3,216 1,150 2,066
802 Btat=DIEt 3,216 1,150 2,066
01 2 NEX3LHEZ 2,022 0 2,022
020229 < 2,022 0 2,022
—A0IEJE EXIAY
2,011,5102%14] 2,012 0 2,012
—AOIEJHE AXIAFE (OIAL)
9,440 14 10 0 10
02 Al - SHIBEZEEZ 1,194 1,150 44
O20208 & 1,194 1,150 44
—Al2I0] =5t g2Z(FESE) ZHAY
(OIA) 43,79021%14] 44 0 44




